Shawnee County
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Flanned Growth Areas
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Total growth through new development in planned growth areas:

Total growth through in-fill develo pment
in exizting City of Topeka Limits:

Totalgrowth in Rural Area:

s

*Total Aggregate 30-yvear growth:

in that particular region
(source: building permits
and '90 census data).

approximately 170,000,
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*Represents the number
of persons already existing

79,768

15,000
1,000

95,768

Exizting and planned commercial districts

Existing and planned mixed use districts

"Projected Growth at 1.5% ower 30 vears
giventhe 2000 base year population of
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